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QUESTION 1

While testing a recently installed FAS8700 cluster, a node fails. You now need to replace the impaired node.
In this scenario, which two statements are true? (Choose two.)

A. You must move the boot device from the impaired node to the replacement node.

B. The boot device must remain intact and must not be removed from the impaired node.

C. You can change any drives or disk shelves as part of this replacement procedure.

D. A controller model of the same type must be used to replace the impaired node.

Correct Answer: AD

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMP1147156 (2)

QUESTION 2

What should you do to change the data protocol of a LIF?
A. Delete and re-recreate the LIF.

B. Add the new data protocol to the LIF.

C. Put the LIF in another broadcast domain.

D. Shut down the assigned port.

Correct Answer: A

Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-
nmg%2FGUID26EEBB35-4CA6-4814-B819-32DAB46F50E5.html

QUESTION 3

After a system panic, the NetApp Support team advises you to run the sldiag command.
Which two actions must be performed before you use this command? (Choose two.)

A. At the LOADER prompt, type boot_maintenance.

B. At the storage system prompt, type halt.

C. At the LOADER prompt, type boot_diags.

D. At the storage system prompt, type boot_maintenance.

Correct Answer: BC
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Reference: https://docs.netapp.com/platstor/index.jsp?topic=%2Fcom.netapp.doc.hw-plat-diag%2FGUIDB944DDDB-
FA1D-4306-8157-2DF02613CA39.html

QUESTION 4

Before installing an 8-node cluster for a customer, you want to validate compatibility with existing hardware.

Which two tools would you use to validate the configuration? (Choose two.)

A. Active 1Q Config Advisor

B. Interoperability Matrix Tool

C. Active 1Q System Manager

D. Hardware Universe

Correct Answer: AB

QUESTION 5
Click the Exhibit button.

Supported cables for X1144A
Ethernet 10/40 Gbps (CU)
Mktg Part No

[=] Copper Cables
XQSFP-45FP10G-CUSM
XQSFP-H40G-CUSM-RE
X66100-5

X66120-5

X66120-3

X66100-3
XQSFP-H40G-CU3M-R6
XQSFP-45FP10G-CU3M
X66100-1
XQSFP-H40G-CUTM-RE

Ethernet 10/40 Gbps [CU)

Mfg Part No Images

112-00603 5
112-00605 =
112-00544 =
112-00546 &
112-00545 =
112-00543 =
112-00604 =
112-00602 =
112-00542 2
112-00307 =

Length v

End 1

QSFP+
QSFP+

End 2

4x5FP+
QSFP+
QSFP+
4xSFP+
4xSFP+
QSFP+
QSFP+
AxSFP+
QSFP+
QSFP+

Description

Cable,Cu,Q5FP+/4xSFP+ 40GDE,
Cable,Cu,QSFP+/QSFP+ 40GhHE,!
Cable,Cu,40GbE QSFP+/QSFP+ !
Cable,Cu,40GbE,QSFP+/4xSFP+,
Cable,Cu40GbE,QSFP+/4xSFP+,
Cable Cu,40GbE,QSFP+/QSFP+,:
Cable,Cu,QSFP+/QSFP+ 40GbE,:
Cable,Cu, QSFP+/4xSFP+ 40GbE,
Cable,Cu,40GbE,QSFP+/QSFP+,’
Cable,Cu,QSFP+/Q5FP+ 40GbE,

A customer has two Cisco 40GbE data switches. They want to connect the switches to an AFF A400 HA pair. The
switches and the AFF A400 are approximately seven meters apart.

Referring to the exhibit, which two supported actions would allow you to accomplish this task? (Choose two.)

A. Relocate the switches or the AFF A400 so that the distance is less than five meters.

B. Install 10 meter NetApp supported copper cables.

C. Change the requirement for Ethernet cables.

D. Change the requirement for optical cables.

Correct Answer: BC
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